== A
N = 0] &F AF S & AN A
20148 = 20l A LEHSH S X X
EX: EXX
BE: AMEAS AKRA
e AXNRXNES H=2 AN (2 &HH)
- - _ L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
S XX 36,259,050 41,619,300 N5,360,250
2 28,262,000
&< 7,997,050
AHARE=E AXNKX 1,735,600 4,566, 100 A 2,830,500
QARXESsS A2 &I 1,735,600 4,566, 100 A 2,830,500
ENEX EE Y 2= 4 151,000 136,000 15,000
307 212t0| & 141,000 126,000 15,000
05 QIZ2tEF 2 141,000 121,000 20,000
O EXNEHZ M= 30,000
O2=0 EXXNSHE ESHOIX 22 11,000
OSHHAMIER =20 EXNXNJALAEH K& 100,000
310 =220/ & 10,000 10,000 0
01 23 A0l N 10,000 10,000 0
Ol EXNEHS M= 10,000
EXNgX ¥ J|gXa = 266,300 251,300 15,000
201 LBt Y| 69,200 54,200 15,000
01 AP 22| d| 65,000 50,000 15,000
OEXNsX &a4dits & HE 10,000
ORI 292 4,000
OAEXNEX s AR 10,000
OFEXNKRX ER2dH HS A NEES 5,000
ORI 8 - HAE= 4,000
OEINY HdY M2 A48 7,000
OEIY MR35 AEA 2t 5,000
OMAEXNSX SSKNIEA Y ALAXHS 20,000
02 324 H| 4,200 4,200 0
Osl|gae 208 SAE 4,200
202 04| 180,000 180,000 0
01 2Ll 20,000 20,000 0
OEXN & JIgRX &= 20,000
03 =22 20| 160,000 160,000 0
OEXNKX 22=22 04| 160,000
203 R F & 17,100 17,100 0
03 AIEH =X H 2 F X H| 17,100 17,100 0
OEXYUX dR=X 2,850
OEXL X AlIZHFZA 14,250
=0 EXIYE =2 AN 1,077,000 1,877,500 A 800,500
308 XAHXIEHSOIA 77,000 80,000 A 3,000
01 AIXSHMENMNEX= 77,000 80,000 A 3,000
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x| XH -
o= 3

£ (29l & 2)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=0 EXNINY A= U= N 72,000
=0 EXINY ANLERXN iz XA 5,000
403 MtXSHHS =0l & 1,000,000 1,797,500 AT797,500
01 XM A=2EE 1,000,000 1,797,500 A797,500
/=2 FEXINY |X EXS 1,000,000
IHENNHA S g8 241,300 201,300 40,000
201 L2l 241,300 201,300 40,000
01 At 221l 241,300 201,300 40,000
OJIg EXNdd ZEES 160,000
OFEXNA 222 M%H 31,300
OsEAAaHX S22 H 50,000
MEEHT =24 2 29 34,288,000 36,833,000 A 2,545,000
= 28,262,000
< 6,026,000
N AS I JIBEAIE A Y X 30,097,000 32,302,000 A 2,205,000
= 24,903,000
< 5,194,000
AYAHCR SgE+=2A24 XA 24,903,000 31,969,000 A7,066,000
& 24,903,000
403 MtXISHE X201 E 24,903,000 31,969,000 27,066,000
& 24,903,000
01 AXSHMA=2EE 11,910,000 25,269,000 A 13,359,000
OXNE LI SHE AL 11,910,000
& 11,910,000
02 S| 2 S 0il CH &HCH & A I 12,993,000 6,700,000 6,293,000
O2gs8+ sgfa=2 12,993,000
= 12,993,000
K AACHT 23 =AtHl XA 100,000 264,000 A 164,000
403 MtXISHH S0l & 100,000 264,000 A 164,000
01 X SHMA2E X 100,000 264,000 A 164,000
OX &t X 23HTH & At 100,000
MR =LXA 44,000 69,000 225,000
201 Let2d] 40,000 65,000 225,000
01 At 22l 40,000 60,000 220,000
OdtgHIIMe 29 40,000
202 Odl 4,000 4,000 0
01 = LH 4 di 4,000 4,000 0
OodgdRgeEA 4,000
ME AT RS ALS 30,000 0 30,000
307 glz2+ol & 30,000 0 30,000




AN EXE XD
Bu: MON X4 U 29
SR XNYAHSIT JIBFAIZAIYE XI& (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 2B AEXS 30,000 0 30,000
OMENAFEH(EIP) RS ALY 30,000
AMAAHIT 24 X 5,020,000 0 5,020,000
201 Let24d]| 20,000 0 20,000
01 At 2teltl 15,000 0 15,000
OMMAMAHT 2XAE 2 15,000
03 A2 Z Hl 5,000 0 5,000
OMMAAST =LA FASE 5,000
403 XIS E X201 E 5,000,000 0 5,000,000
01 XM A=2E X 5,000,000 0 5,000,000
ORI ZEAE K& 5,000,000
s3HA =4 & 29 4,191,000 4,531,000 340,000
= 3,359,000
< 832,000
SSHAZTLE ALY 3,576,000 4,030,000 A 454,000
& 3,359,000
< 217,000
403 A X EHS =0l A 3,576,000 4,030,000 A 454,000
& 3,359,000
< 217,000
01 X HHMAZE L 3,576,000 4,030,000 A 454,000
s3HR =4 2,884,000
& 2,667,000
< 217,000
Os32X ==II8tAIE A 692,000
& 692,000
s3HAEes 294 XA 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 2B AEXRS 30,000 30,000 0
O=s3cXgos 22 XA 30,000
SSHA S=IIEHAIE S ALY 585,000 471,000 114,000
403 UHXISHHEX201H 585,000 471,000 114,000
01 X EHHMA=LE L 585,000 471,000 114,000
SR =RIIBLAIE WA 585,000
MRS (SN XN 151,650 140,000 11,650
WEHHXZ 151,650 140,000 11,650
HEHAH X = 151,650 140,000 11,650
705 =3 Acl3&E 151,650 140,000 11,650
03 Al - EXYHEIIS0+==d=oE 112,465 0 112,465
02008 2/=0 EXXNY =4 112,465
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X ZH -
L= B

el

S XY X B
Heags(SXASXM)
WEAHAH X =

SA - BAEA) - il
04 Al - EXI SR 39,185 140,000 ,815
02008 2/ =2l 39,185
HE2LIH (FAL X ) 83,800 80,200 ,600
|23 (S XL X2t 83,800 80,200 ,600
Jl= &l 83,800 80,200 ,600
201 fEt2E | 41,800 40,000 ,800
01 AP 2t2lHl 37,800 36,000 ,800
OFXsX 2= 37,800
02 =24l 4,000 4,000 0
Ooz33e3 % 4,000
202 044l 37,800 36,000 ,800
01 SLHOYI 37,800 36,000 ,800
OFNF=X g2= 37,800
203 ¥R =&l 4,200 4,200 0
04 EN2ZYR=F 4,200 4,200 0
OSF A+ Xl 1t 4,200




